Rubric for HW 09 


Name           






Section            


	
	Expected Level
	Impressive Level

	0  E-  E  E+  I-  I
	· File name correct

· Name at top 
· File downloads in a reasonable length of time (paste special is used)
Problem 1

· □  Correct regression equation provided for
□ Part a, □ Part b, □ Part c
· □ Correct name for models
□ Part a, □ Part b, □ Part c

· □  Provides correct regression output
□  for linear model
□  for multiplicative model
· □  Provides correct equation
□  for linear model
□  for multiplicative model (logarithmic form)
□  for multiplicative model (standard form)
· □  Provides correct diagnostic graphs for the

□  Linear model, □  Multiplicative model 
	Problem 1

· □  Regression equations in std form correct 
□ Part a, □ Part b, □ Part c
· □  Provides correct R^2 for multiplicative model

· □  Provides correct SE for multiplicative model

· □  Provides an adequate explanation as to why it is necessary to compute R^2 and Se for the multiplicative model

· □  Provides an adequate explanation as to how the multiplicative model is transformed from its logarithmic form to its non-logarithmic form

· □  Provides correct current annual cost for linear model for 100 home and 2000 auto polices

· □  Provides correct current annual cost for the multiplicative model for 100 home and 2000 auto polices

	M and T
	· 
	

	0  E-  E  E+  I-  I
	Problem 2
· □  Correct interpretation of models for
□ Part a, □ Part b
· □  Analyzes the fitted vs actual scatterplot
□  for the linear model
□  for the multiplicative model

· □  Analyzes residual vs fitted scatterplot
□  for the linear model
□  for the multiplicative model 
· □  Compares the two models using
□  fitted vs actual scatterplots
□  residual vs fitted scatterplots
□  goodness of fit
□  accuracy of models
	Problem 2
· □  Correct interpretation of model in part c for
□ Labor, □ Capital
· □  Correctly interprets how annual operating costs change in home and auto policies
□  for the linear model marginal analysis 
□  for the multiplicative model (elasticity)
· □  Correctly calculates the actual dollar-amount changes at the 100-2000 levels 
□  for the linear model.
□  for the multiplicative model

	A and R
	· 
	· 

	0  E-  E  E+  I-  I
	· □  Assignment was submitted on time

· □  The writing is competent (grammar, spelling are basically correct)

· □  There is an adequate introduction to the problem situation

· □  The writer clues the reader as the structure of what is to follow in the memo 

· □  The presentation of the proposal is adequate and complete (must include everything the memo requires)
· □  Charts and graphs are not fragmented
· □  Charts and graphs are legible

· □  Attendance – missed no more than one class during 04/06 to 04/20 (5 classes)
· □  Completed quiz 9 with a score of 13
· □  Completed quiz 10 with a score of 3
	· □  Charts and graphs are arranged in a way that facilitates comparisons between the models
· □  Writer uses visual devises in displaying text and graphics (e.g. headers, bullets, bold face, etc.) in a way that facilitates the reader’s understanding

· □  Conclusion includes a recommendation as to which model the insurance company should use 

· □  Conclusion includes a summary of the evidence to back up this recommendation referring to the models’ goodness of fit, accuracy, or ease of use
· □  Attendance – missed no classes during 04/06 to 04/20 (5 classes)
· □  On time to all class periods

· □  Prepared for all class periods
· □ Completed quiz 9 with a score of 15
· □ Completed quiz 10 with a score of 5

	C and P
	· 
	· 
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M and T = Mechanics and Techniques



0 = Not sufficient to pass

A and R = Application and Reasoning



E = Expected level of performance

C and P = Communication and Professionalism


I = Impressive level of performance

Boxes are marked according to the following system (inner boxes for revision)

□ = Criteria not met
[/] = Criteria partially met
 [X] = Criteria met

